Name ID 1-3 /15
MATH 251 Quiz 5 Fall 2005 4 /5
Sections 503 Solutions P. Yasskin 5 10
Multiple Choice: (5 points each) Total /30
2 px
1. Compute I j v dy dx.
1 191
a —13
b. 3
c. % Correct Choice
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d. 2
e. ?
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2. Find the volume under the surface z = 2x?y above the triangle with vertices (0,0), (1,2)
and (0,4).
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3. Compute ”J' Jx?+y? dV over the region D bounded by the paraboloid

D
z=9-x?>-y? andthe xy-plane.
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T 24
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e. 2n3°

J.” JXE Yy dV = J.E” IZ Izrzr rdz dr df = 2n IZ Izrz r? dz dr = 2 J.Z[FZZ :|9_r2 dr

4 J.J.l dA — J~7r/4‘.-sin49r dr do — J~;r/4r2_2

D
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(5 points) Find the area enclosed by ONE loop
of the daisy r = sin40:

sin40 /4 -
do = J. Sll’l240 4o
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(10 points) Find the mass M and center of mass (x,j)

of the region above the parabola y = x?

below the line y =4, ifthe densityis p =y.

(5 points for setup.)

HINT: By symmetry, x = 0. So you only need to compute y.

v[fpar=[ [yava=[[5T] - s a-[s-5T
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y:

y=x

o= F]-2[1-4]- 1
mom=IIyp dA = jz J.42y2 dy dx = j:[%};z dx = J.:63—4—x3—6 dx

%[6‘” T 2 18- 128 | - 2§_6(g) _ 512
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